Math 180 Fall 2017 Name:

QUIZ #2 [ 83 poinits

Write neatly. Show all work. Write all responses o# sepzrate paper. Clearty labet the exercises.

1. 1f jf(r)dt=x2 -3x+5, find f(x).
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LAy 1
.Find— if V=

2mdx1y j2+e,

143x°

dr

3. Suppose that fis a differentiable function showt in the accompanying graph aad that the posmon at time 7 (sec) of a
particle movmg along a coordinate axis is

§ = If (x ) dx meters. Use the graph tc ansvear the foliowing questioas. Give reasons for your answers.

a) What does the function shown in the graph represent ir: the context of the problem?
b) What is the particle’s velocity at 1 =57 Fym 7 ;f- o
, I I 4
¢) Isthe acceleration at time # = S positive or negeative? A @ %% .
Ton LR
N T ] S “&
d) What is the particle’s position at time 7 =3? K
Sl S 5
e T Ae &0 %
e) Approximately when is the acceleratior: zero? T T T N T T S N
o %3 4 &5 a7 8
f) On which side of the origin does the pasticle lie at time 1 =97 -1~ ;
2
4) Evaluate the integral and give its geometrical interprezat.on. liustrate with & sheich xdx
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Find the following. Do not just write an answer. Show work to justify your answer.

A
> -£1+4xda
8) fsinzxdx
sin 28
Dl veeriad
14)fsecya§v

17) Jl'J,] - cos 2xdx
0

Extra Credit

.
1) Find fx2’(1+lnx)dx
2

2) Find fcos4 xdx.

in2f
o f S a0

sin f

9) [sec’ ydy

1
12)fJ3 1+ 7xdx

5
15) (07,

2
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18) J'szin‘1 (xz)dx

-2
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10) [xlnxdx

13) ftanxcbc

16) fe‘/;dx

19) J' cosxdx
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